HERECT | 872 Ve g 9°L 21 °¢ £HCTHS HT £48 H9 HI 27 HS HI 6
FEYHE | 0L 88 °g ) 02 '€ L£UVI H8G H T £HZZHG6Z H 1T £HZTHSZ H 1T 8
HHHYHEY | 28 ¥e 9 L. 0€ ¢ £18 HET M1 £ HOT H1 £ HET M1 L
Y HE | 876 €S ¥ 86 1€ ¢ £0% HOTHE | £123 HOT € £12 HL K€ 9
TN HE | 02 8¢ 'S ¥ L L€ ¢ £10 HOT K | £H8THSI K3 £18T HST 3 g
HEHYHEY | 8L 6% °g By ¥S g £102HS HE | £#122H9 Hg £I8THZ MG i
HY G G L GL°9 0°8 0L°¢ £19 HOTHE £17 HLIHE £z HIT HE €
S Y H 69 9L °9 ) G6 ¢ £19 HIZHIT &2 HEZHT £1Z HIZHT 4
TN HE | 26 L6°8 0°6 9g ‘¥ £18 HLZHZ | £19THSZ H 3 £IZTHI9Z H G T
(S) HEF[&( | (W) 70 | (5) M & | (W) =5k LU @ . o
. ¥ FrT™ e ML e e = w
(6 ~T)=5010% =
FEHHE PH oy e V-—2N




